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Choice Type. Question Nos. 9 to 16
are Very Short Answer Type to be
answered in about 20 words each.

Note : First 15 minutes are allotted for the
candidates to read the question

paper. Question Nos. 17 to 22 are Short
39T Answer Type to be answered in
' 3 Ca about 50 words cach and Question
1) R . Nos. 23 and 24 arc Long Answer
i) W EE 1 d 8 & ag—ﬁﬁaﬂu gl U= Type 10 be answered in about 150
q& 9 g 16 O afa oY IaNg %" fTeRT words each. Question Nqs. 25 and

. B e 3 26 arc map rclated questions.
Tedah AL oI 2"?) STl H, q&r 17 i} Marks allotted to all the questions
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. _ . suitable sketch ; .
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[ Multiple Choice Type Questions ]
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Write the correct answers of the following

questions in your answer-book :

Who amongst the following scholars

1.

presented the concept of neo-

determinism 7

a)  Griffith Taylor

by E.C.Semple

c) Jean Brunhes

d) Vidaldela Blache. 1
9. The largest continent according to the

population size is

a) Africa

b) North America
c) Asia

d) Europe.

1
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Which one of the following is not a

primary activity ?

a) Hunting

b)  Agriculture

c) Mining

d) Manufacturing. 1
Which one of the following tYypes of

economic activities dominates in all the

rural settlements ?

a)  Primary b) Secondary

c) Tertiary  d) Quaternary. 1
In which of the following states of India
is the density of population the

highest ?

a) Kerala

b) Bihar

c) Uttar Pradesh

d) West Bengal. 1

Bokaro city of India is famous for which
one of the following industries ?

a) Cement industry
b)  Cotton Textile industry

c) Iron and steel industry
d)  Sugar industry. : ]
*xY
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Through which of the following states of
India, Indira Gandhi canal passes ?

a) Rajasthan

b) Madhya Pradesh

¢}  Uttar Pradesh .

d}  Gujarat. 1
8.  Which one of the following is not a
problem of urbanization ?

a) Slum area

b)  Extensive agriculture

c) Industrialization

d)  Traffic problems. 1
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[ Very Short Answer Type Questions ]
9. ‘HHAF €EYA ¥ T ARTE € ? 2

9. What is meant by ‘Human Resource’? 2
10. fava & afus swaEn g fFR q S %

aH foE | 1+1
10. Write the names of any two countries of

the world having high population. 1+ 1
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11. Differentiate  between primary ang
secondary activities. 1+
12. TRea aRadt ® g i) )
12. Define clustered settlements, )

13.

13.

14.

14.

15.

15,

16.
16
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Examine the characteristics of million
cities of Uttar Pradesh. 2

THE & YR W IR R Sy @ WA
4 forvisia sifeg | 2
Divide Indian towns into major types on
the basis of functions. 2

Wﬁvﬁmaﬁaﬁﬁ?wﬁwmﬁﬁm

types of rural settlements in
2

} :
Describe _ the methods of wate
¢onservation in India. :

Describe the
India.

4877

* kY



9 322(EU)

[ Y I U |
[ Short Answer Type Questions ]
17. TATEFE dHEEN W RS H A

FITAT | 4
17. Describe the stages of demographic
transition. ‘ 4
18, YRA # wzd oA % ®RUi #1 Ieerd
ifer | 4
18. Mention the causes of declining sex-ratio
in India. 4
19. fomrai= et & g sfeml = goas &
fereram wifg | 4

19. Discuss the problems of urban
settlements in the developing countries. 4

20. WRA ® sHuEn g a faww w1 f@aee

Hife | 2+ 2
20. Discuss the growth and distribution of
population in India. 2+ 2

21. 9RA H YZfeigg Ol &1 0 HifET 4
21. Describe the petroleum resources of
India. 4
22. HEd e % U@ IU-&31 F1 I6v1 HIT | 4
22, Mention the main sub-fields of human
geography. 4
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[ Long Answer Type Questions ]
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Describe the nature and scope of human
geography. 3+3
OR
“Human geography is the study of the
changing relationship between the
unresting man and the unstable earth.”

Examine this statement. 6
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04. Describe the problems of slum areas in e
India with exarnpcl)eRS- 6 iii) e 3Tt ST & T = T
Define migration and mention the causes E | . I T59 &7 1
of migration from rural to urban areas in iv) wEie® FAGEA Baite| faﬁgml
India. | S 2+4 |
HrAfeT w1
25, Wi & fag M A A 3wgw foed & %1 7 fefEn | !
e @ gUE a9l 3% A i fefa | [ MAP WORK ]
_ . : 11 :
) TS HH G g e T o 75. Show the following by suitable symbols
i) T A F AR S8 T e qgllqml[ in the given map of India and write their
272 names also : https://www.upboardonline.com
- 1,1
iii) Ag-3a&h IR &l Ush HHd 8 5" 2 ij State of minimum population
v) T ST Sl T | ;+§ density. 15»,_;
v) mﬁmmﬁﬂﬂ@ﬂﬂﬁqﬁq (a'ﬂ?g)ll i) A main metropolitan city at the
_ 5%5 bank of Yamuna river. . é +%
[%ﬂﬁ qﬁzmﬁm qﬁ?«*’lﬁ‘ﬁ fow 11} One major iron-ore producing area.
25 & M W | - 1.1
) gEE S g et o9 &1 AW _ 2 2
| : iv) State of maximum population. % + ;
i) g & & fEAr s T v}  One major sea-port of Tamil Nadu
%1 71 fafag | 1 1!
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Impaired candidates in
the place of Question No. 25 ]

ij Write the name of the state of the
minimum population density. 1

iij Write the name of a main

metropolitan city at the bank of
Yamuna river. 1

iiij Write the name of one major iron-

ore producing area. 1
iv) Write the name of the state of

maximum population. 1
v) Write the name of one major sea-

port of Tamil Nadu. 1
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Show '
W the following by suitable symbols

n ' '
_the glven. outline map of world and
Write their names also - -
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Country with the highest value of

human development index in the

world. - ;

bt | s

One major area of iron and steel

industrv in U.S.A.

B |
b | =

One sea-port of Japan.

b |
B | o

The largest city of Great Britain.
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the place of Question No. 26 }
Write the rrame of the countrv with

the lai;gest population in Asia. 1

Write the name of the country with
the highest value of human

development index in the world. 1

Write the name of one major area of

iron and steel industry in U.S.A, 1
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iv) Write the name of one sea-port f
Japan. 1
v) Write the name of the largest city of

Great Britain. 1
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